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Ideals for irreducible component#ﬂ)f Xpar

It = (—2u® —5u? + - 420 —u, —2u® — 4 4+ Fa+ 1, 3 F 3B 4 30— 1)
Iy = (—u?b+ 0 +bu—u+1, a, v —u?+1)

* 2 irreducible components of dim¢ = 0, with total 40 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(—2u33—5u32+. . .4+ 2b—u, —2u3—4u®?4...4a+1, u3*+3u33+...+3u2-1)

(i) Arc colorings
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—ub +ut—2u?+1
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(ii) Obstruction class = —1

(iii) Cusp Shapes = fu®3 + 19032 + -+ 4+ 10u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy W AP+ Tu+1
C2 w3t 2003 4+ - = 3lu+ 1
c3, C7 WP 4+~ 160u — 64
5 w3t —4uP o+ 19u + 2
C6, C10 w3t 3uP 30— 1
s udt = 3uP o du— 1
Cg,C11 W+ 13uB 4+ 6u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 3420y . =31y + 1
C2 Y3t — 8y 4+ — 1215y + 1
€3, Cr Y3 — 35y3% + ... — 29696y + 4096
Cs Y3 —36y3% + - — 209y + 4
Cg, C10 P13y 6y +1
Cs A1y — by 41
Co, C11 Y19y o+ 122y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

uw = —0.992042 + 0.1995481
a = —0.462101 — 0.9751571
b= 0.138300 — 0.1728461

—3.59663 4 0.108811

—14.08590 — 0.632401

uw = —0.992042 — 0.1995481
—0.462101 4 0.9751571
b= 0.138300 + 0.1728461

—3.59663 — 0.108811

—14.08590 + 0.632401

u = —0.794834 + 0.5817261
a= 0.594117 + 0.7079651
b= 0.427182 — 0.2032091

1.44216 — 0.299291

—6.95462 4 0.767311

uw = —0.794834 — 0.5817261
= 0.594117 — 0.7079651
0.427182 + 0.2032091

1.44216 + 0.299291

—6.95462 — 0.767311

—0.524940 + 0.8082951
0.56013 + 1.377641
—0.888548 4 0.8351421

—2.09915 — 1.648401

—5.13395 + 0.241921

—0.524940 — 0.8082951
0.56013 — 1.377641
= —0.888548 — 0.8351421

—2.09915 4+ 1.648401

—5.13395 — 0.241921

0.840078 + 0.6141681
—0.613136 — 0.5779491

1.86820 — 2.418381

—3.21586 + 3.798721

0.840078 — 0.6141681
= —0.613136 + 0.5779491
—1.41546 — 0.812351

1.86820 + 2.418381

—3.21586 — 3.798721

—0.560590 + 0.8793131
—0.41210 — 1.506171
1.46754 — 1.003691

—5.42766 — 6.754891

—7.92215 4 3.417141

—0.560590 — 0.8793131
= —0.41210 4 1.506171

b
U
a
b
U
a
b
U
a
b= —1.41546 + 0.812351
U
a
b
U
a
b
U
a
b= 1.46754 + 1.003691

—5.42766 + 6.754891

—7.92215 — 3.417141




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.412943 + 0.8456941
= —0.76752 — 1.526061
0.44847 — 1.452771

—6.32362 + 2.725941

—8.84636 — 2.764661

—0.412943 — 0.8456941
= —0.76752 4+ 1.526061
0.44847 + 1.452771

—6.32362 — 2.725941

—8.84636 + 2.764661

= —0.893031 + 0.5870121
= —0.693593 — 0.5832931
—0.956249 — 0.1927871

1.13021 + 4.950871

—8.36503 — 5.996351

—0.893031 — 0.5870121
—0.693593 + 0.5832931
—0.956249 4 0.1927871

1.13021 — 4.950871

—8.36503 + 5.996351

0.985371 + 0.5566071
= 0.620847 + 0.8872731
= 1.96665 — 0.762191

—1.53468 — 5.700851

—9.72834 + 6.452021

0.985371 — 0.5566071
0.620847 — 0.8872731
1.96665 + 0.762191

—1.53468 + 5.700851

—9.72834 — 6.452021

0.834354 + 0.7772111
—0.618925 + 0.0831357
—0.304799 4 1.2557901

2.63328 — 1.691381

—7.83080 + 4.782331

0.834354 — 0.7772111
—0.618925 — 0.0831351
—0.304799 — 1.2557901

u
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b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b

2.63328 + 1.691381

—7.83080 — 4.782331

1.15996
1.41319
1.11298

U
a
b

—8.01260

—11.0100

= 0.691950 + 0.4280711
= 0.759172 4+ 0.7216851
1.51068 — 1.171591

(SRS

—0.45796 + 1.444091

—6.46359 + 0.673871




Solutions to I}

V=1(vol + y=1C)

Cusp shape

0.691950 — 0.4280711
0.759172 — 0.7216851
1.51068 + 1.171591

—0.45796 — 1.444091

—6.46359 — 0.673871

1.197460 + 0.0576211
—1.51287 — 0.164351
—0.911142 4 0.3476931

—12.04690 — 5.1342171

—13.68860 + 3.300241

1.197460 — 0.0576211

= —1.51287 4 0.164351

—0.911142 — 0.3476931

—12.04690 4 5.134211

—13.68860 — 3.300241

0.921897 + 0.7687391
0.213500 — 0.5876081
—1.053180 — 0.8268251

2.37182 — 4.137131

—9.61954 + 1.327901

0.921897 — 0.7687391
0.213500 + 0.5876081

= —1.053180 + 0.8268251

2.37182 4 4.137131

—9.61954 — 1.327901

—1.072580 + 0.6609901
—1.205520 — 0.3831551
—1.20314 — 2.132871

—3.72457 + 7.163681

—7.25453 — 4.711651

—1.072580 — 0.6609901
—1.205520 + 0.3831551
—1.20314 + 2.132871

—3.72457 — 7.163681

—7.25453 + 4.711651

—1.110150 + 0.6155541
1.267740 4 0.5755021
0.56941 + 2.110061

—8.42620 4 2.664301

—11.45013 — 1.919851

—1.110150 — 0.6155541
1.267740 — 0.5755021
0.56941 — 2.110061

—8.42620 — 2.664301

—11.45013 4 1.919851

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

—1.089780 + 0.6955951
1.309000 + 0.2814391
1.38267 + 2.549141

—7.0419 + 12.59321

—9.63219 — 7.641771




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —1.089780 — 0.6955951
a = 1.309000 — 0.281439I

—7.0419 — 12.59321

—9.63219 + 7.641771

b= 1.38267 — 2.549141

u = —0.643512

a= 0.650445 —0.881314 —11.5070
b= 0.109056

u = 0.221560 + 0.2752641
0.92943 + 1.468691
0.710592 — 0.5843741

—0.37760 + 1.658691

—3.04964 — 3.100721

u = 0.221560 — 0.2752641
0.92943 — 1.468691
0.710592 + 0.5843741

—0.37760 — 1.658691

—3.04964 + 3.100721




IL. 1Y = (—u?b+ b*+bu—u+1, a, v —u?+1)

(i) Arc colorings
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(ii) Obstruction class =1

(iii) Cusp Shapes = u?b — 6bu — u? + 6u — 11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C5 (u? +u+1)3

3, C7 u®
Cq (u2 —u+ 1)3
Co (u 4+ u? — 1)

€8, €11 (u® +u? +2u +1)2
oy (u — u® + 2u — 1)
€10 (u® —u® +1)?
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq4 (y2+y+1)3
cs
C3,Cr yG
C6, C10 W’ -y +2y—1)°
€8, C9; C11 (v + 3y* + 2y — 1)?

11



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.662359 — 1.1472401

U 0.877439 + 0.7448621

a= 0 3.02413 — 4.858011 | —2.74410 + 7.225871
b= —0.818128 — 0.2924801

uw=0.877439 + 0.7448621

a= 0 3.02413 — 0.798241 | —4.03424 — 1.646671
b= 0.155769 + 0.8547591

uw=0.877439 — 0.7448621

a= 0 3.02413 4+ 4.858011 | —2.74410 — 7.225871
b = —0.818128 + 0.2924801

uw=0.877439 — 0.7448621

a= 0 3.02413 4+ 0.798241 | —4.03424 4 1.646671
b= 0.155769 — 0.8547591

u = —0.754878

a= 0 —1.11345 — 2.029881 | —12.72167 + 5.849901
b= 0.662359 + 1.1472401

u = —0.754878

a= 0 —1.11345 4 2.029881 | —12.72167 — 5.849901
b
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (W +u+ 1)) (P +4u® + -+ Tu+1)
C2 (u? +u+ 1)) (W + 200> + - = 31u + 1)
s, C7 ul (Pt + w4 - — 160u — 64)
Ca (W —u+ 13 +4u® + -+ Tu+1)
€5 ((W® +u+1)*) (0 —4u® + - + 19u + 2)
€6 (® +u? = 1)) (u®* 4+ 3u® + - + 3u? - 1)
s (v 4 u® +2u+ 1)) (W = 3u® + - +4u —1)
€9 (u® —u? +2u—1)H W +13u> + -+ 6u+1)
€10 (u® —u® + 1)) (W3 +3u® + -+ 3u% - 1)
c11 (u* +u? +2u+ 1)?)(u** + 130 + -+ 6u+ 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1s ¢ (1 +y+ D) (" +20y™ + - =31y +1)
€2 (P +y+ )™ — 8% + - — 1215y + 1)
¢, 7 YO (3 — 3593 + - - — 29696y + 4096)
¢ (¥ +y+ 1)) (y* =36y +--- — 209y + 4)
C6, 10 (=9 +2y — D) (** =13y + - =6y + 1)
cs ((v* +3y° + 2y = 1)*)(y*" — 419> +--- =6y + 1)
Co, C11 (P + 3y +2y — D) (3 + 1993 + - + 122y + 1)
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